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T 1 Satatavar sfufrm 9o g
fore o d gifta R mam e ?

(1) 1999 (2) 2014
(3) 2000 (4) 2002
frva g fafereran fearg weman smar 8

(1) 29 fE=R  (2) 15 Yo

(3) 22%% 4 5

R asia axer rffem fora ad
i g3 7

(1) 1960 (2) 1965

(3) 1970 (4) 1972

TR HIET, TET g TGH feha STl
g

(1) Tt ureai

(2) Tt S

(3) eI TGl UE =37l
(4) aFT wfi aredi wd Wt St

T TR 3 St & -
(i) StoHvSE TRE

(ii) TS 3T
(iii) T 9 Aoy
(iv) e ST

T IO T =TT R

(1) ()@ (i) |
(2) (i), (ii) @ (iii)

(3) (i), (iii) T (iv)

@) (i), (i), (iii) @ (iv)

W fefa St siiiferes &t 5 fonfom 2 7
(1 s 2) 10
(3) 15 4) 20

Biodiversity act of India was passed
by the Parliament in the year ?

(1) 1999 (2) 2014
(3) 2000 (4) 2002

World Biodiversity Day is celebrated
on:

(1) 29" December (2) 15 July
(3) 22" May (4) 5™ June

Indian Wildlife Protection Act was
enacted in the year :

(1) 1960
(3) 1970

(2) 1965
4) 1972

Ex-situ conservation is used for the
conservation of :

(1) All plants

(2) *All animals

(3) Threatened plants and animals
(4) Both all plants and all animals

In-Situ conservation include :
(i) Biosphere Reserve

(ii) National Park

(i11) Wildlife Sanctuaries
(iv) Sacred Forests

Choose the correct answer :
(1) (i) and (i1)

(2) (i), (ii) and (iii)

(3) (ii), (iii) and (iv)

(4) (i), (in), (111) and (iv)

India is divided into how many
biogeographical regions ?
(1) 5 (2) 10
(3) 15 (4) 20
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CITES ®T8 ? |

(1) Eeheras YTl o STt SR
& fore amem |

(2) GeheTad TSI o SATIR H HId |
&% |

(3) warteror et @i wfifia W %
e W g |

(4) SEnfieh 3R e fasm @
S T |

YR GUHR g0 T8 giee forg ad 8§
TR <hY 7S oft 7

(1) 1970 (2) 1973

(3) 1977 (4) 2000

A % form =g # iR T 3am @
27

(1) ToEy™ (2) HEA e

(3) TeE (4) HAEH

oS SIS TG hal TR g1 o7 ?
(1) Temrerht qegdt |

2) witemwe

(3) g<I&H

(4) T I o BgHT &

Py & B T g R R 7
(1) Fre T e — o 3

(2) ST TER UM — Th Hi T IS0

(3) T wree TP 3aH — gaTh e
(4) ufFadt g1e — aRE 35 whh

YR | S-asiiel GHTE T STl 8
(1) 3SR Teed HHTE |
(2) 3TN % e wwme
(3) frawer & gt wETE A
(4) Torams 3 Tt e o

10.

11.

12,

What is CITES ?
(N

Convention on International
Trade in Endangered Species.
Centre in India for the Trade of
Eﬁdangered Species.
Intended to

Environmental Scientists.

(2)

Centre Train

3)

(4) Central Institute of Technology &

Environmental Science

In which year Project Tiger was
launched by the Government of India ?
(1) 1970 (2) 1973
(3) 1977 (4) 2000

The Gir National Park is located in

which state of India ?
(1) Rajasthan

(2) Madhya Pradesh
(3) Gujarat

(4) Karnataka

“Save the seeds movement — Begj
Bachao Andolan” began in the

(1) Himalayan Foot Hills

(2) Eastern Ghats

(3) Sundarbans

(4) Plains of Uttar Pradesh

Which one of the following pair is
mismatched ? '

(1) Gir National — Asiatic Lion
Park

(2) Kaziranga — One horned
National Park Rhinoceros

(3) Jim Corbett — .Hoolock
National Park Gibbon

(4) Western Ghat — Lion tailed

' : Macaque

In India Wildlife week celebrated in
(1) First week of October

(2) Second week of October

(3) First week of September

(4) Second week of September
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15.

16.
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18.

T A R Sl form w9 H Prserdt @ 7
(1) 3reer araere fafes

(2) Tath fafepror

(3) T

(4) o greehrar i

e G ST ST 8

(1) Tavfir weer & forg

(2) Stafafaear @ & faa

(3) o T % forg

(4) Y& T % ferg

= 8 2 319 @ g ¥ s1fieram s
I AN A BT 2 ?

(1) foghtra (7 i)

(2) TTHS! HT BT

(3) femmse (v )

(4) TS (WA HIe)
ATSEISH JaTeh ohl FRIehal & BT 3
(1) Ifg =t quend

(2) e T hH FEET

(3) I &I gummd

(4) o

=g st # ererofigar ardt ot 2
(1) SAR WHE g’

(2) Toega =merehar gra

(3) pHEHgM

(4) T I HE T

feaem &7 # e wau feus
gRumTTEEY § ?

() wehifweE (i) @ TRty
(i) I P FHE  (iv) TR

T I T =T B

(1) a (i)

(2) < (i) W (i)

(3) 9 (i), (ii) W (iii)

@) (), (i), (iii) T (iv)

T LT D T8Lem 1 Vo e P i e TR D 0 A 0 e

14,

15.

16.

17,

18.

In which form solar energy is radiated
from the Sun ?

(1) Ultra violet radiation

(2) Infrared radiation

(3) Transverse waves

(4) Electromagnetic waves

Ramsar convention is known for :
(1) Wetlands conservation

(2) Biodiversity conservation
(3) Forest conservation

(4) Soil conservation

Which of the following type of coal
has maximum' carbon and calorific
value ?

(1) Bituminous (Soft coal)

(2) Wood coal

(3) Lignite (Brown coal)

(4) Anthracite (Hard coal)

Excess of Nitrogen fertilizer leads to :
(1) Growth problems

(2) Fruiting problems

(3) Pest problems

(4) All of these

Salinity in irrigation water is measured
by :

(1) SAR value

(2) Electrical conductivity

(3) pH value

(4) None of these

Landslide hazards in the Himalayan
region are consequence of :
(1) Road cutting
(i1) Seismic activity
(iii) Deforestation
(iv) Urbanization
Choose the correct answer :
(1) (i) only
(2) (i) and (ii) only
(3) (i), (ii) and (iii) only
(4) (i), (i1), (iii) and (iv)
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@ % qvEr St gf % uer sreen
37aT I5H +ft FER AT HI I AR
ST h1 IieRa &1 HEerdl & 7

(1) qesT (2) TGS

(3) hifd 4) ufr 38R

FrefaRaa # @ o a1 Hemrs T R 7
(1) AeceErEs

(2) S.&]A.

(3) TATTESTH

(4) e Brgiered! ST 3T

R S, 9o forga vifts, 9y w@ e
a1 rEeh IR 8 7

(1) el St
(2) Telrertfia Het
(3) TR St
(4) Ferchr St

(i) Taed

(i) et

(iii) =hETEn

feu T g w1 TE HW T AR
HEA T TIA HIT
(1) e (i)

(3) (i) 3R (i)

2) (i) 3R (ii)
4) (i), (if) 3 (iii)

TORYM % TRUICRT &9 =
kel % @S & famfor W B W el
EEkCrehbISiRGuCICIRCIECIDRS

(1) 200 =2 (2) 300 =2
(3) 400 #i2 (4) 700

22..

23.

Process by which mined land is
returned to its original state or better is
known as

(1) Refurbishing
(3) Revolution

(2) Regeneration
(4) Reclamation

Which of the following is not a
pesticide ?

(1) Metaldehyde

(2) DDT

(3) Malathion

(4) Beta Hydroxy Butyric Acid

Solar energy, Hydroelectric power,
wind and geothermal energy are
examples of

(1) Non-renewable energy
(2) Renewable energy

(3) Nuclear energy

(4) Magnetic energy

Consider the following crops :
(i) Jatropha

(i1) Sugar beet

(ii1) Cassava

Identify the biofuel crop(s) using the
codes given below :

(1) Only ()
(3) (i) and (iii)

(2) (i) and (ii)
(4) (i), (ii) and (iii)

Installation of roof top rainwater
harvesting system is compulsory on
construction of minimum plot area in
municipal limit of Rajasthan.

(1) 200 m2 2) 300 m2
(3) 400 m? (4) 700 m2
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28.

wia # 59 YR % o rfream wRe |
F A A& ?

(1) 3so1 sl 0 quigTdt s
(2) I HfaHy a9l FEEER 91
(3) 99 cUTsH T 3TeqTS o
(4) 301 BT BN o=

= 4 9 fReweht wen @ geen d
Haiferes B 8 ?

(1) 3cdeeh

(2) Tfies IuviH

(3) Teciaes 3uviem

(4) ITTEH

T oot ° fediaes ae R 2
(1) IR ATHR  (2) Vg wlEh
(3) SUg (4) wsfaat

T g S fRR @ Joerg % ay
e Tfid X o, ST STaT 8

(1) ¥ 379 T

(2) &% g

(3) TS T l
(4) Tt wqe=

dleehT AeeT Hise qTifeufaeshl 99

fore a1 3q wam B fora e @ 2

(i) ReR w Rl it SEe §
Qe |

(i) Rl &1 ReER A THEEr |
T |

(i) PR &1 NPl H e W
U |

el AL HT I L

(1) e (i) @ (if) (2) A (i) T (i)

(3) e (i) W (iii) (4) (i), (ii) W (iii)

24,

25‘

26.

27.

28.

Which type of forest is found in
maximum percentage in India ?

(1) Tropical moist deciduous forest
(2) Tropical wet evergreen forest
(3) Sub-alpine and alpine forest

(4) Tropical thorn forest

Which of the following has largest
population in a food chain ?

(1) Producers _

(2) Primary consumers

(3) Secondary consumers

(4) Decomposers

The second trophic level in a lake is :
(I) Phytoplankton (2) Zooplankton
(3) Benthos (4) Fishes

A community which becomes stable
and is in equilibrium with climate is
known

(1) Pioneer community

(2) Seral community

(3) Climax community

(4) Mixed community

Lotka Voltera model for an ecosystem
can be used to study

(1) Oscillations in
population

(i) Effect of
population

(iii) Effect of prey on
population

Choose the correct answer

(1) (i) and (ii) only

(2) (ii) and (iii) only

(3) (i) and (iii) only

(4) (i), (ii) and (iii)

prey-predator
predator on prey

predator

03
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TR H YT o Rl o I & 2
(1) it femrem & (2) SIS Teid
(3) TMHATE  (4) READ RS

ét,angéﬁn@aqmﬁf%w%,
31 Ffafed o @ feg TR S 99 § 91T

S e ?

(1) Tofardl ==
(3) 3¢ Y[k A

(2) wemni e
(4) HE S

@aﬁﬁw@ma‘aﬂ%ﬁﬁaﬁ
w @ 3iferes 4¢) sed B Td TRt W
3 oft Gk B, T HEA @ ?
(1) SaRAcHd (2) 9
(3) @ 4) 3=

TTeTd Y ol TR T :

(1) TP < uTifeafes @ & <= H1
TEFAUEHTA 83 8 |

() TIe SRR S T HH B
7

(3) R YT TS H I T R |

(4) THIGH H T T 6l HEAT AU
A HHA 2 |

i et T s

e b e i e et i T e SR SRS [

30.

32.

33.

34.

Highest potential energy is found in
(1) Decomposers (2) Consumers
(3) Producer (4) Detritivorous

The process through which ecosystems
tend to change over a period of time is
known as

(1) Ecological transformation
(2) Ecological transition

(3) Ecological degradation
(4) Ecological succession

Coniferous forests in India are seen in
(1) Eastern Himalayan Region

(2) Aravallis Hills

(3) Gangetic Plains

(4) Coastal Regions

Ber, Babul and Neem are examples of
plants found in which type of forests 2
(1) Deciduous
(3) Semi arid

(2) Evergreen
(4) Mangrove delta

A partially enclosed coastal body with
one or more rivers pouring into it

which has a connection with the sea is

known as
(1) Estuary (2) Stream
(3) Bay (4) Lake

Identify the incorrect statement

(1) Ecotone is a transitional area

between two different ecosystem

Ecotone often have a small

()

number of species
3)
4

Edge effect is found in Ecosystem

The number of one species may

be high in ecotone
-a
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Sehall T e § T W W H
e 8id 8

(1) FREERT

(2) FAUEH

(3) |

(4) 3TEE 3R e gHI

FT T N 3TT9TH B ?
(1) fermy

(2) oo T Sftamy

(3) e Td e

(4) Teremoy, ST T e

Q% Breet, Yau I T % fog
3R TR 3 T o WY HITRE ATTERAT
! qfera A areft iafate 8

(1) SITRRETR

(2) T i AR Wi

(3) TS I

(4) =R fo=m

@mwm,@ﬁmwm,

| T ATHR 37 G ST I HARRR

it amT &

(1) T Iferes 3w gl
(2) JURHTETG

(3) GTETNTR ITETRI

(4) TR fa=R

T i1 I Tehel RIS BT TG T b
CISRCOERELE I HIRCRE I CE R

gfenfera 2 e aaeata 8 1 I F
FHEAT B ?
(1) T (2) ¥gea FEH

(3) HuRof fybm (4) MR- T

36.

37.

38.

39.

In grazing food chain, the first trophic
level organism(s) is :

(1) Detritivorous

(2) Decomposers

(3) Plants

(4) Both Detritivorous and Decomposers
Which organism(s) is decomposer ?
(1) Virus

(2) Virus and Bacteria

(3) Fungi and Bacteria

(4) Virus, Bacteria and Fungi

The activities that seek to balance
corporate citizenship with a fair level
of  profits for stockholders,
management and employees are
referred to as :

(1) Consumerism

(2) An ethical code of conduct

(3) Social responsibility

(4) Ethics

The right to safety, the right to be

informed, the right to choose and the
right to be heard are all parts of :

(1) An ethical code of conduct

(2) Consumerism
(3) Social responsibility
(4) Ethics

The management of a single unit of
land with water drainage system
including soil and water management
and developing a vegetation cover is
known as ;

(1) Irrigation

(2) Landscaping

(3) Sustainable development

(4) Watershed management
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Frerfrfan 3 B %4 @ Y aka e AW
g7 '
(1) CO
(3) NO,

arretia a9t & gl 8
(1) ETESEAleh 3T
(2) HEHH A
(3) =S I
(4) BRI A

3 e feremm @

(1) geaf o) wag & 10-20 Topei o S |
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(1) 1975 (2) 1985
(3) 1986 (4) 1990

frfafga § @ w1 rfufEm Tg
AfrearTatl st HTYuT  Feiftd B 7

(1) Tarteer wegron At

(2) o weegor Aferfem

(3) wdE == srfafEE

(4) TSt weeor AffE

@) CO,
4) SO,

& § QB9 o T HYT “TEE gha

sifrertor Srffree” % SR A e @ ?

) g o g % 619 o ° wwg §
arfurfrafir forem mam am |

(2) T FH S FAAE |

(3) 98 Wiwem 3 T wHTH
i AT |

(4) 9% wEW ¥ 249 e W
T=iRa 2 |

40.

41.

42.

43.

44,

45.

Which of the following is a greenhouse
gas 7

(1) CO
(3) NO,

2) CO,
4) SO,

Acid rain contains

(1) Hydrochloric acid
(2) Sulphuric acid
(3) Benzoic acid

(4) Phosphoric acid

The Ozone layer is present

(1) 10-20 km above the surface of the
earth

(2) 10-20 km below the surface of the
earth

(3) 15-35 km below the surface of the
earth

(4) 15-35 km above the surface of the
earth

The Environmental Protection Act

came into effect from
(1) 1975 (2) 1985
(3) 1986 (4) 1990

Which of the following Acts deals
with the declaration of National Parks
& Wildlife Sanctuaries and their
notifications ?

(1) The Environmental Protection Act
(2) Forest Conservation Act

(3) The Indian Forest Act

(4) The Wildlife Protection Act

Which one of the following statement

is wrong about “National Green

Tribunal Act” ?

(1) It was enacted in Parliament in
the 61% year of Republic of India

(2) It contains total 5 chapters

(3) It was the outcome of Stockholm

conference and Earth summit
(4) Tt is related to Article 24 of the
Constitution
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46.

47.

48.

Which statement(s) is/are true about
“Stockholm Conference” ?

(i) It was held in Sweden on 8 to 16
June 1972

* (ii) It was the first major International

Conference = to
environmental issues.

(iii) It is also known as “Rio Summit”™

(iv) 26 Principles were advised in this
conference

highlight

Select the correct answer using the
codes given below :

(1) (i) and (i1)

(2) Only (i)

(3) (ii) and (iv)

4) (), (ii), (iii) and (iv)

In context of environment, the term
“dirty dozen” refers to :

(i) 12 ozone layer depleting substances
(i1) 12 persistent organic pollutant

(iii) 12 most harmful greenhouse gases
(iv) 12 most degraded ecosystem

Select the correct answer using the
codes given below :

(1) Only (i)

(2) Only (ii)

(3) (i), (ii) and (iii)

(4) (i), (ii), (iii) and (iv)

Which one of the following is not the

part of Screening of EIA process ?

(1) Determination of requirement of
EIA process

(2) Determination of
limited/Full EIA required

3)

4

whether

Determination of which are the
most critical issues to study
Determination whether project
may have significant environmental
effects
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T YR TETERS Yu gEEE T
(1) e T, 1952

(2) 3T T, 1960

(3) o BfTed, 1943

(4) STAM S, 1964

AT 3R (YEE ud gefo) fram
I 4 TTefl §T '
(1) 1970 (2) 1989

(3) 2001 (4) 2007

TERT 3T el e ferd 2

(1) T (2) TGS

(3) = et (4) =TvdvTg
frmfofaa § & B9 @ o 70 95E
TEe HIEHIUTS T e Bl B 7

(1) d-aa

(2) T ad

(3) TE-ad

(4) T S T
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(1) Hergfeh T A3ieeh 3T

(2) ETESIFAIN UG TR A

(3) TR T BTRGIEAINH A

(4) T @ HE A

Hiarer g Fed o fora el 19 w5
Toama gam Ut ?

(1) e TS

2) e #ige

(3) fasm

(4) Toremser amsEETEHE

51.

52.

53.

54.

waves is

First ‘Photochemical Smog’ recognised
in—

(1) London Smog, 1952

(2) American Smog, 1960

(3) Los Angeles, 1943

(4) Japan Smog, 1964

The Hazardous Wastes (Management
and Handling) rules came in force in
India :

(1) 1970 (2) 1989
(3) 2001 (4) 2007
National Institute of  Disaster

Management is located at :
(1) Pune (2) Lucknow
(3) New Delhi (4) Chandigarh

Which- of the following earthquake
first the
seismograph ?

recorded on
(1) P-waves (2) Rayleigh waves .

(3) S-waves (4) None of these

Which are the two main acids found in
acid rain ?

(1) Sulphuric and Nitric acid

(2) Hydrochloric and Nitric acid
(3) Sulphuric and Hydrochloric acid
(4) None of these

Which was the poisonous gas that
leaked in the Bhopal Gas Tragedy ?

(1) Carbon monoxide
(2) Methyl carbide
3) Metﬁane

(4) Methyl isocyanate
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What is the unit of measuring sound ?
(1) Decilitre (2) Decibel
(3) Microgram  (4) Nanometer

An
eruption or sub marine landslide can

undersea earthquake volcanic

cause

(1) Floods (2) Cyclone

(3) Tsunami (4) Waterlogging

Which one of the protocol/convention
is related to prevention of substances
that deplete ozone layer ?

(1) Basel convention

(2) Nagoya protocol

(3) Agenda 2l

(4) Vienna convention

In  which year Central Pollution
Control Board (CPCB) was established
in India ?
(1) 1974
(3) 1978

1976
1981

(2)
(4)

Kigali amendment is related to :
(1)

Reduce the use of Greenhouse

gases

Reduce the use of Chemical

2)

fertilizers

(3) Reduce the use of Hydro Fluoro

Carbons (HFC)

Reduce the use of Plastic Products

(4)
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Which of the following statements are
correct about Ozone ?

(i) It is comprising of 3 oxygen atoms.
(ii) It is light blue in colour
(iii) Its thickness is measured in Rem

(iv) It is present in both troposphere
and stratosphere

Select the correct answer using the
codes given below :

(1) (i) and (ii)

(2) (i), (ii) and (iii)

(3) (i), (ii) and (iv)

4) (1), (ii), (iii) and (iv)

The Indian Crocodile conservation
project was launched in —

(1) 1970 (2) 1975
(3) 1976 (4) 1979

Regional Centre of Botanical Survey
of India situated at :

(1) Jaipur
(3) Bikaner

(2) Ajmer
(4) Jodhpur

The Indian Wild Ass Sanctuary is
located in state of India

(1) Kerala (2) Gujarat
(3) Andhra Pradesh (4) Rajasthan

Which community is famous for
conservation and protection of wildlife
in Rajasthan ?
(1) Bishnoi
(3) Jaat

(2) Rajput
(4) Banjara
“Project Elephant” launched by India
in the year .
(1) 1990
(3) 1996

(2) 1992
(4) 2000
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Nanda Devi
situated in ;

(1) Gujarat (2) Tamil Nadu
(3) Uttarakhand  (4) Rajasthan

“Biosphere Reserve”

IUCN headquarter situated in :
(1) Germany (2) Switzerland
(3) America (4) Japan

Which of the following Sanctuaries or
National Park is not located in
Rajasthan ?

(1) Sariska National Park

(2) 'Tal Chhapar Sanctuary

(3) Mollem National Park

(4) Sita Mata Sanctuary

Which of the following is a Ramsar
site of Rajasthan ?

(1) Foysagar lake

(2) Fatehsagar lake

(3) Sambhar salt lake

(4) Anasagar lake

There is a species “A” of plants which
grow in a huge number but is found
only in “B” region of India in the
whole world. Which type of species is
it ?

(1) Abundant
(3) Endemic

(2) Exotic
(4) Endangered

[dentify the mismatched pair :

(1) Bandipur — Karnataka
National Park

(2) Periyar — Kerala

- National Park

(3) Kanha — Uttar
National Park Pradesh

(4) Simlipal — Odisha
National Park
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Identify the mismatched pair :

(1) Fishing Cat — Ghana National
Park
(2) Four horned - Kumbalgarh
Antelope wild life
sanctuary
(3) Mouse deer — Phulwari Ki Nal
wild life
sanctuary
(4) Flying — Mount Abu wild
squirrel life sanctuary
The concept of  sustainable
development was given in :
(1) United Nations Conference on

environment and development

United Nations Conference on the
Human Environment

2

(3)
4

UN conference on climate change
None of these

In India Family Planning Programme
started in the year

(1) 1956
(3) 1970

) 1952
(4) 1990

United Nation World Population Day
celebrated on :

(1) 10" March
(3) 11" July

2) 21%May
(4) 23™ December

Which one of the following is a result
of over population ?

(1) Adquate storage of natural
resources
(2) Pressure on land and renewable

resources
Increase in forest area

€)
(4)

Shortage of water
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Scientist known as ‘Father of Green
Revolution” in India is

(1) T.N.Khosoo

(2) B.P. Pal

(3) M.S. Swaminathan
(4) K.C. Mehta

Which of the following is not a water
borne disease ?

(1) Diarrhoea
(3) Dysentery

(2) Cholera
4) Malaria

Which of the following can cause
Cancer ?

(1) Antigens

(2) Contaminants

(3) Carcinogens

(4) Antinutritional factors

Consider the following diseases :
(1) HepatitisA

(11) Polio

(iii) Cholera

(iv) Typhoid

(v) Mumps

Identify the water borne diseases by
using codes given below :

(1) (@), (iii) and (iv)

(2) (ii) and (v)

(3) (i), (ii), (iii) and (iv)

(4) (i), (ii), (iii), (iv) and (v)

HIV does not spread by :

(1) Blood transfusion

(2) Handshaking and sharing of food
(3) Sexual intercourse

(4) Sharing of shaving blade
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Which statement is correct about

desert ?

(1) These may be hot or cold

(2) Plants do not adopt in desert

(3) Day and night are always hot in
desert

(4) Deserts are not

human activities

affecting by

In Joint Forest Management (JFM) :
(1) Government and local

communities work together

(2) NGO and private sector work
together

(3) Government and private sector
work together

(4) Government and NGO work
together

Identify the mismatched pair :

(1) World = 5™ June
Environmental
Day

World
Biodiversity
Day

World Earth -
Day

World Ozone -
Day

©) 24" May

3) 22™ April

(4) 16™ September
The Government of India laid down
the list of development projects which
need EIA clearance vide its
notification of :

(1) 26" January, 1998

(2) 27" January, 1994

(3) 27" January, 1996

(4) 26" January, 2000

EMS stands for :

(1) Environment Management System
(2) Environment Man System

(3) Ecosystem Management System
(4) None of these
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First remote sensing satellite launched
by NASA : -
(1) LANDSAT-I
(3) SONAR

(2) METEOSAT
(4) NOAA

An environmental audit helps in
achieving the : '

(I) Resource optimisation
(2) Waste minimisation
(3) Public Awareness
(4) All of these

Environmental Impact Assessment

(EIA) is mandatory under which one

of the following of the Indian

Legislation ?

(1) Indian Forest Act

(2) Air (Prevention and Control of
Pollution) Act

(3) Wildlife Protection Act

(4) Environment (Protection) Act

One of the best known matrix methods
for environmental impact assessment
is :

(1) Leopold matrix

(2) Sphere matrix

(3) Saratoga matrix

(4) Component interaction method

The first country to develop a system
of Environmental Impact Assessment
(EIA) is

(1) India
(3) Thailand

(2) USA
(4) France

GIS deals with which kind of data ?
(1) Numeric data

(2) Binary data

(3) Spatial data

(4) Complex data

03



03,

94.

95.

96.

03

whwmm%aﬁaﬁé.qﬁ.'

1 T T8 ?

(1) TateRvr TgwIe aftfd
ORELLEE @IETE It
(3) T srgaen wfufa
(4) TATeRT geareha aftfa

T HaeH | Sl 1 HH F A TSI
M i oS ?

(1) Torera grehi o

(2) TR qat

(3) &t i

(4) I T

TETe ST IThEH (3.3718.1.) o Uel
EF[E-&\&%T[%

(1) =g — SR - =A@
THTE T — J9Te faweiso |
2) W fazetse - BRfFT - g
— AR T THTS T |
(3) BRI - gt — we foetvw
— AR T TS T |
(4) AT TF T TR —> TR
— BRI — guTe ferweryor |

ﬁﬁmﬁﬁﬂﬁﬁq

(i) aed

(i) STTeRE

(iii) wderor gt

(iv) Afg

(v) eTH

D Ry T R H WM B T
3.améu, wiwar & qhem falRen &
WW

(1) (i), (ii) 3 (i)

(2) (iii) 3R (v)

3) (i), (iv) 3R (V)

@) (@), Gi), (i), (v) IR (V)

94.

96.

In the field of Environmental Impact
Assessment ‘EAC’ stands for

(1) Environmental Approval Committee
(2) Expert Appraisal Committee
(3) Expert Approval Committee
(4) Environmental Appraisal Committee

Which source of energy is mostly used
in remote sensing ?

(1) Electromagnetic waves
(2) Nuclear waves

(3) Sound waves

(4) Wind waves

Which order of steps of Environmental

Impact Assessment (EIA) is correct ?

(1) Scooping —  Screening —
Mitigation and Impact
management — Impact analysis

(2) Impact analysis — Screening —
Scooping — Mitigation and
Impact management

(3) Screening — Scooping — Impact
analysis — Mitigation and Impact

management
(4) Mitigation and Impact
management —> Scooping —

Screening — Impact analysis

Consider the following :
(i) Adhoc

(i1)) Overlays

(iii) Check list

(iv) Matrix

(v) Network

Select the methodologies examined in
the EIA process by using codes given
below : _

(1) (i), (i1) and (ii1)

(2) (iii) and (v)

(3) (iii), (iv) and (v)

4) (i), (id), (iii), (iv) and (v)
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@

India’s first National Action Plan on':
Climate Change (NAPCC) launched in
the year

(1) 2010,
(3) 2006

(2) 2008
(4) 2004

Object of Kyoto Protocol (1997) is :
(1)
(2)
(3)

Minimise the land degradation
Minimise the water pollution
Reduce the eutrophication

Reduce the emission of Greenhouse
gases by industrial sector

Which Article of Indian Constitution
says about “The right to life” ?

(1) Article-57  (2) Article - 21
(3) Article-88  (4) Article - 29

Basel convention related to :

(1) Biological Diversity

(2) Ozone layer protection

(3) Persistent organic pollutant

(4) Hazardous waste and their disposal

What is main aim of United Nations
Framework Convention on Climate
Change (UNFCCC) ?

(1) Stabilization of greenhouse gases

(2) Stabilization of sand dunes

(3) Stabilization of Thar Desert
expansion

(4) Stabilization of Increasing
temperature

Human  Environment Conference

(1972) was held at :

(1) Paris (2) Geneva

(3) Stockholm (4) Australia
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. How many regional centres have been
established (up to June 2019) by
Rajasthan State Pollution Control Board ?
(1) 5 (2) 10
(3) 15 (4) 20

The Montreal Protocol is related to
(1) Protection of endangered species
(2) Protection of Ozone layer

(3) Forest Conservation

(4) Nuclear Hazards

Principle 17 of the Rio declaration
deals with

(1) Environmental Pollution

(2) Environmental Conservation

(3) Environmental Degradation

(4) Environmental Impact Assessment

When was the National Green

Tribunal (NGT) established ?
(1) 2010 (2) 1987
(3) 1973 (4) 2000

Which ISO specifies audit protocol of
environment ?

(1) ISO 9000
(2) 1SO 9001
(3) ISO 14064
(4) 1SO 14001

In thermal pollution occur :

-(i) Rise the temperature of water body
(ii) Rise the temperature of atmosphere
(iii) Rise the temperature of soil

Select the correct answer by using the
codes given below :

(1) Only (i)
(3) (ii) and (i)

(2) Only (i)
(4) (i), (ii) and (iii)
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(1) R.S. Ambast
(2) R. Misra

(3) G.H. Mendel
(4) E.P. Odum

World Environment Day is celebrated
every year on

(1) 5" June (2) 16%September
(3) 26" November (4) 1% December

Which is the state flower of Rajasthan ?
(1) Rohira (2) Khejari
(3) Jaal (4) Neem

Which is the critically endangered bird
of Rajasthan ?

(1) House sparrow

(2) Peacock

(3) Parrot

(4) Great Indian Bustard

Oldest Mountain range is
(1) Himalayas Mountain
(2) Satpura Range

(3) Aravalli Range

(4) Vindhyan Range

Khejarli village famous for sacrifice of
life for Khejari trees protection
belongs to which district of Rajasthan ?

(1) Ajmer (2) Jodhpur
(3) Shri Ganganagar (4) Jaipur

The Unit for measuring wind speed is :
(1) Decibel

(2) Nautical mile/hour

(3) Richter

(4) Candela
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117.

118.

119.

(2)

120.

Which factor in
determines wind velocity ?

(1) Humidity
(2) Oxygen levels

the atmosphere

(3) Ozone layer

(4) Atmospheric pressure

Which of the following is a famous
saline water lake of Rajasthan ?

(1) Fatehsagar lake(2) Anasagar lake
(3) Foysagar lake (4) Sambhar lake

Which one of the following conference

is also known as “Earth Summit” ?

(1) World Commission
Environmental Degradation

(2) United Nations Conference on
Sustainable Development

3)

4)

on

United Nations Conference on
Human Environment

United Nations Conference on
Environment and Development

Which one of the following is the
correct order of ecological level from
lower to higher ?

(1) Community — Population —
Biome — Ecosystem

Population — Ecosystem —
Community — Biome

(3) Ecosystem — Population —
Biome — Community

(4) Population — Community —
Ecosystem— Biome

Organisms that obtain energy from
oxidation of inorganic compounds are
called :

(1) Autotroph

(2) Chemolitho autotroph
(3) Parasites '

(4) Hydrolithotroph
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